English
Tne

Installation Instruction

Dual LCD LED Monitor Desk Mount Stand

)D)E)E,

www.bdeetv.com

PYNASIDNDULAAS 2 A8
LUUEpuaulAy
BDEE ju MS-3201

waunianldudniusuusun BDEE

Thank you for choosing use products brand BDEE



Supplied Parts List

R

7 “"*--.‘_ = j_.‘:_,__ ) i
(1)Pole-a (1)C’ Clamp-b {1 )Bfag;ag‘p (1)Swivel Arm-d
LN waanilduvauldy i uIHIUID
s @
N
(2)VESA Plate-e  (3)M5x14 Bolt-f  (2)M8x12 Bolt-g (2)Nut-h
Inandanasan AN3HALEINUIWAT m ansdauaanil WaANWHA
option option option option
(1)M10 Bolt-i (1)Support Plate-j (1)M10 Washer-k  (1)Spring Washer-|
anjiaian +mansadlalas I wrInaLU39
option N
(1)GrommetBase  yyvice Clip-n1  (4)Wire Clip-n2 (1)Allen Key-0
Plate-m h
wangatsunlay #29508818 W Tasans 1A3a9iia

~—

(8)M4x12

(1)Wrench-p (8)M4x30 Bolt-r (8)M4 Spacer-s
d - Thdumb BOI}:E‘, ANTUNILALNANHAIN
1A5a9ila ANIHALNANHAINT ® it s
option
(1)Soft Pad-t1 (1)Soft Pad-t2
WHWSDINWIDE WHWSDINWIDE




m Install the Pole to the Desktop

Option A: Desk Clamp Install

1.Install the “C” Clamp Brace(c) to the
Pole (a) using 3pcs M5x14 Bolts(f), and
tighten using the Allen Key(0),see
Figure 1.

2. Attach Soft Pad(t1) to the “C” Clamp
Brace(c), see Figure 2.

3. Install the “C” Clamp(b) to the pole
assembly according to the thickness of
the desktop. The thickness can be
changed to three positions. Connect it
using 2pcs M8x12 Bolts(g), and tighten
using the Allen Key(o). Tighten the
“C” Clamp to the desktop using the
plastic knob, see Figure 3.

duAantduIUsznudisn gy tdanszeu

= s @ ar &
stingean lmmnIzAuANNnuIIag Az

W/

6.

: 0
-

Option B: Grommet Base Install

Existing Grommet Hole Installation

If the existing grommet hole comes with a
plastic protector, remove it to ensure a flat
surface before installing the desk mount.

1.Install the Grommet Base Plate(m) to the
Pole(a) using 3pcs M5x14 Bolts(f), and
tighten using the Allen Key(o), see Figure 4.

2. Attach Soft Pad(t2) to the Grommet Base
Plate(m), see Figure 5.

3. Position the Pole(a) on the mounting
surface and secure using the Support Plate
(j), M10 Washer(k), Spring Washer(l) and
M10 Bolt(i). Fasten the M10 Bolt using
provided Wrench(p), see Figure 6.

RULN 2 ANTAAAINL

Y

IS

B
Qs Qe




m Install the Pole to the Desktop

Option C: Grommet Base Install a

Self Drilled Grommet Hole Installation

1.Position the Pole(a) on the mounting —
surface and mark the center hole. Drill a 3/8" /! !
(10mm) diameter hole at the marked f !

position through the mounting surface.

2. Install the Grommet Base Plate(m) to the

Pole(a) using 3pcs M5x14 Bolts(f), and
tighten using the Allen Key(0), see Figure 7.

3. Attach Soft Pad(t2) to the Grommet Base
Plate(m), see Figure 8.

4. Position the Pole(a) on the mounting
surface and secure using the Support Plate
(j), M10 Washer(k), Spring Washer(l) and
M10 Bolt(i). Fasten the M10 Bolt using
provided Wrench(p), see Figure 9.

E a5 et oY) 3 a A = )
uUUNn 3 ﬂimtﬂtlﬂﬂdﬁaﬂ?aﬂﬁ'lﬂ ﬂﬂ'lN'!iﬂl"i]'ltE U164 10 VA L‘W'ﬂﬂﬂtﬂ'ﬂ,ﬂ

m Install Arm to the Pole

Install Swivel Arm(d) to the
Pole(a). Fasten the bolt with
supplied Allen Key(o). Attach the
Wire Clip(n1,n2) to the Pole(a)
and Swivel Arm(d).

A ANILYWIUIDUAZHIIIDYFIYLIDINULE n1




ﬂ Attach the VESA Plate to the Monitor

SALNANIDINUAIIDNA LA S
Ixans g

19.- El AA W I‘b A A P21
ﬁialﬁfﬂ'ﬂ wNIWYiadaalad ﬁiﬂ&]ﬁq&lﬂg
-7
I5@ns (n)

For Monitor with Flat Back

For Monitor with Curved or
Recessed Back

m Slide the Monitor onto the Head of Swivel Arm

a ch e 1
&l naauauma{wumw‘lﬁmanuiaame

Tditaa (h) Saanunan

Slide the monitor onto the head of
Swivel Arm(d) as shown in the above
diagram.

Install the security Nut(h). Make sure the
security nut is installed before you rotate
the monitor.




m Make the Necessary Adjustments

e tilt angle

P a o 10 [ ©ore W A8 G-k 17
nImaadsrau lannk ’lﬁﬂ'summmn'nlﬁgwu ¢
Tagenitan (h) eannow uaziuligedin
) gnotre this step

monitorsare level

|4

Tighten the bolt with the supplied Allen
Key(o) to fix the tilt angle.

] = 3‘ Qs 9 0 1 ‘:3'
**NITH BN%’I’H%I‘IN’IHTH?IHLL%%?J%

If one monitor is lower, remove the Nut(h)
and turn the bolt counter-clockwise with
supplied Allen key(o) to raise the monitor.
Install the Nut(h) after the adjustment.

m Manage the Wires and Store the Allen Keys on Wire Clip

L
lmim!

Use the supplied Allen Key(o) to make the
necessary adjustments.

duananaang wazUiuvgusauldninansieg

* k&

Asduuide Wiavadw duafaszaugs-aunsaanailinad

6

Manage the wires and store the Allen
keys(o) in Wire Clip(n1) for future use.




